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mouse1_Isl1 (d=112um)

r^2 = 0.4106
Slope = 0.2393 um/sec

p=0.0001
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mouse1_Isl3 (d=95um)
Slope = 0.2814 um/sec

r^2 = 0.1036
p=0.1167
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mouse1_Isl2 (d=88um)
Slope = 0.1670 um/sec

r^2 = 0.2425
p=0.0091
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mouse6_Isl1 (d=66um)

r^2 = 0.4613
Slope = 3.327 um/sec

p<0.0001
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mouse6_Isl2 (d=61um)

r^2 = 0.1942
Slope = 1.159 um/sec

p=0.0590
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mouse7_Isl2 (d=122 um)

r^2=0.8890
Slope=2.497 um/sec

p<0.0001
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mouse3_Isl1 (d=80um)
Slope = 0.6774 um/sec

r^2 = 0.4171
p=0.0005
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mouse4_Isl1 (d=71um)

Slope = -0.05511 um/sec
r^2=0.006082

p=0.7438


